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0243 =& 3 2| JIEtSESH &M (2l ®R)

20 22 - FHAL - HAAA(Z]H]) Ol &F o4 lE o Hnsz ==
=S Al 56,782,586 55,218,282 1,564,304 2.83%
MY 53,690,450 52,269,806 1,420,644 2.72%
MREs 2,952,936 2,809,276 143,660 5.11%
HHE 2 ZH 139,200 139,200 0 0.00%
Lot SAH 1,313,000 1,343,000 230,000 N2.23%
ot 1,313,000 1,343,000 /30,000 N2.23%
MHRE= (0l 1,313,000 1,343,000 230,000 A2.23%
WRAHHXIS(XLLESESH ) (AGLNHES 1,313,000 1,343,000 230,000 N2.23%

3IHI)

23 48,956,684 47,563,171 1,393,513 2.93%
oot - =2 48,956,684 47,563,171 1,393,513 2.93%
g2 = ¢EAE 35 5,804,457 5,804,457 0 0.00%
AT A (M=S AL SESH) 5,804,457 5,804,457 0 0.00%
ot==2l HMExc 41,685,951 40,292,438 1,393,513 3.46%
St At (St A SE3IH) 512,288 541,288 229,000 Ab.36%
FEIONS AL (RN SEEIH) 41,173,663 39,751,150 1,422,513 3.58%
HRES(=TAIHL) 1,466,276 1,466,276 0 0.00%
SBENE(EMLELSIH) 1,466,276 1,466,276 0 0.00%
NEIEN 350,963 127,303 223,660 175.6%%
I=ME2 177,303 127,303 50,000 39.28%
NASS dEoHy K& 177,303 127,303 50,000 39.28%
=220 X (A=SHELSA) 177,303 127,303 50,000 39.28%
FAHSKS 173,660 0 173,660 =5
HRas(=e=I ) 173,660 0 173,660 =3
BEIE(QZSHELESIA) 173,660 0 173,660 =5
A - SATIHRUE X 7,311 0 7,311 =3
MHAE - NEFt 7,311 0 7,311 =5
NAEEES 7,311 0 7,311 =5
NS G RF(XALHSLEFA) 7,311 0 7,311 =3
WNSA=EF 603,248 603,248 0 0.00%
Hsus - =FSIIE 603,248 603,248 0 0.00%
WSHH =E 603,248 603,248 0 0.00%
FRAEALSLS A (=IH AL S L) 603,248 603,248 0 0.00%
SELX SR 5,412,180 5,442,360 /30,180 A0.55%
ANSH Al 431,260 431,260 0 0.00%
A2 A2AAMS 431,260 431,260 0 0.00%
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